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A " TH1®¥1—-102%

A " TH1%1—-103%

FEM " TH1®%1—202%

FEIM " TH1%1—-203%

HIHET = TH1#%&3 5

HIHET T H1%&4 5

HHET = TH2%3 5

HIHET = TH2%8 %5

FHIT " TH3&2 5

FHIT " TH3&4 5

FHIT " TH3&SL &

FEHIT - TH4® 1 &

FHIT " TH4%3 &

HHET T H4%&S &

FIHET T H4%1 2%

HHET T HS%&3 5

AT THS%6 75

AT THS%&S8 &

A THS®&9 &

HHIT " THS®%&1 0%

HHIT " THS®%&1 0%

HHIT " THS®E1 15

HHIT " THS%&1 35

HHIT " THS5%&1 5%

HHIT " THS%&1 6%

HHIT " THS5%&1 8%

EIHHT —TH1&2—-102%

FIHHT " TH1%&%2—-103%

HHET —TH1%&%2—202%

HHET —TH1%&%2—203%

PHIHET = TH1#%&5 5

PHIHET = TH2%2 3%

PIHET = TH2%4 5

HIHET = TH2%2 5

HIHET T H2% 7%

EHET —TH2%2 0%

EHET —TH2%1 75

HIHET T H 2% 8%

HHIT " TH2®%&1 2%

HHIT " TH2®%&1 3%

HHIT " TH2®%&1 6%

HIHET T H 4% 4%

HIHET T H 4% 6%

HIHET T H 4% 7

HIHET T H 4% 8%

HHHT ZTH4%1 0%

AT TH4%1 275

AT TH4%1 175

AT TH4%2 275

HHH ZTH4%2 575

HIHIT " TH4%&2 75

HIHIT " TH3%&1 8%
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R TH6®H 15

A " THG6#&S &

HIHET = THG6#%6 5

HIHET = TH6®H 7 5

HIHET - THG6#%S8 5

HIHET = TH6#&9 5

FHHETZTHG6#&10%

FHHET - THG6#H15%

FHIT " THG6HL 75

FHIT " THG6%F19—102%

FHIT " THG6%F19—201%

FHIT " THG6%F19—202%

FHIT - THG6&20%5

HHIT " TH6&2 15

HHIT " TH6#%&21—-101%

HHIT " TH6#%&21—-102%

HHIT - TH6#%&21—-201%

HHIT " TH6#%&21—-202%

HHIT " TH6&2 2%

HHIT " TH6%&24 %

HHIT - TH7H& 15

HHE ZTH7%&4 %5

FIHAET - TH7HS5—102%

FIHET - TH7HS5—201 %

HIHI " TH7%#5—-202%

HHI " TH7%#5—-203%

PR TH3%14%

PR THGSHE2 5

HIHE ZTHGS#&S &

YIHE ZTHGSHET &

PHIHET ZTHGS#&S &

FHIHETZTHGS#HF10%

HIHET ZTHGSHFL 2%

HIHET ZTHGS#HF16%

HHIT " THS&2 15

EIHAT T HG&HK23—102%

EIHAT T HGS&XK23—201%

EIHAT T HGH&HK23—202%

HHIT " TH5S%&25%

HHIT " THS&2 75

HJHET " TH5%&%28—101%

HJHET " TH5%&28—102%

HJHET " TH5%&28—20 1%

HJHET " TH5%&28—202%

HHIT " THS%&2 9%

HHETZTH3®&1 175

HHET ZTH8&K2 5

HHHT ZTHS8®1 475

HHIT - TH6%&1—102%

HHIT - TH6%&1—201%

HIHIM " TH6%&1—-202%

HIHIM " TH6%1—-203%
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A " TH7%5—-301%

A " TH7%5—-302%

FHIT " TH7%5—-303%

HIHE ZTH7%6 5

HIHE = TH7%8 %5

HHE = TH7%&9 %5

HIHET - TH7H#10%

FHIHETZTH7H®1 1%

FEHIT - TH7H®L 25

FHIT - TH7%1 35

FHIT - TH7H1 55

FHIT - TH7H1L 95

FEHIT - TH7H&225

FHET - TH7&25%

HHET T H8%3 5

HHET T H8&4 %5

AT TH8®F4-201%

AT TH8®F4-202%

AT T H8%&S &

HHET T H8%K 7 &

HHET T HS8%&8 %

HHET T H8%&9 5

HHIT " TH8%E1 0%

HHIT " TH8%E1 0%

HHETZTHS8®&1 175

HHIT - TH8E1 9%

FIHET " TH6®X1—-301%

FIHET " THG6®X1—302%

HHET " TH6%1—303%

FHIHET " THG6#&SL &

HIHET - THG6#&S S

FHIHET = THG6#&10%

PIHET - THG6®HF1 1%

PIHET - THG6®HF1 2%

HHIT " TH6®%&1 4%

HHIT " TH6%&1 6%

HHIT " TH6%&1 8%

HHIT " TH6%&2 3%

HHIT " TH6%K2 7%

HHIT " TH8®%1 8%

HIHET T H 8% 8%

HHIT " TH8®E1 15

BIHAT T H7H4—201%

EIHAT T H7H4—202%

HIHET T H 7% 5%

HHH ZTH7H7 &

HHET ZTH7%&8 5

HHH ZTH7#&9 5

HHIT - TH7%&1 0%

AT TH7®&1 275

HHH ZTH7H1 75

FIHET TH7%2 3%
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A TH8&F20%

A TH8®2 2%

FHIHETZTH8®24%

FHIHET " TH8%&25%

FHIHET ZTH8%26 %

FHIHET ZTH8%26 %

HHET = THO® 25

HIHET T HO®4 5

FHIT - THI&ES &

FHIT " THIO%E6 &5

FEIT - THIR 7=

FHIT " THIOH9 &

FHIT - THIO®L 15

HHIT " TH9®1 5%

HHIT " TH9®1 75

HHIT " TH9% 1 8%

HHIT " TH9®1 9%

HHIT - TH9®1 9%

HHIT - TH9®2 15

HHIT " TH9®2 25

HHIT " THO9®2 3%

HHIT " TH9® 25 %

HHIT " TH9® 26 %

FHET - TH10%& 1%

FHET - TH10%2 %

HFIHET - TH10%3 %

PR TH7#2 5%

PR TH7H2 7%

YIHET = TH7#%&2 9%

FHIHET = TH7#3 0%

PIHETZTHS8®EFL 2%

PHIHETZTHS8#&E1 3%

PIHET = THO®2 5

FHIHET = THO9%6 5

HIHET T HO%ET =

HIHET T HO%E 9=

HHIT - TH9®1 2%

HHIT - TH9%&1 5%

HHIT " THO9%&1 8%

HHIT " TH9® 245

HHIT " TH9®K2 75

HHIT " THO9% 28 %

HHIT - TH9%&2 9%

HHIT " TH9%3 15

HHIT " TH9%&3 2%

HIHIT " TH9%3 6%

HHIT " THO9#%3 8%

HHET ZTHO®4 275

HHHT ZTHO®4 475

AT - TH10%3 7%

FIHET - TH10%3 3%

FIHET T TH10%&8 %
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HIHET ZTH10%4 %5 FHITZTH10%S8 %5
HIHET ZTH10%4 %5 HHM-TH10%1 1%
HHET ZTH10%S5 % HHIT-TH10%&1 2%
FHHET ZTH10%6 % FHHIT-TH10%15%
HHET ZTH10%9 % HHI - TH10%&1 7%
FHHET ZTH10%9 % FHHIT-TH10%19%
HIHIT-TH10%1 3% HHIT-TH10%2 3%
HHIT-TH10%16% FHHIT-TH10%25%
FIHITZTH10%1 7% FIHET - TH10%®2 75
FIHITZTH1 0% 1 8% FIHET - TH10%3 2%
FIHITZTH10%1 9% FIHET - TH10%3 4%
PIHITZTH1I 1% 2% PHITZTH1I1%3%
PIHITZTH1 1%4 %5 PHITZTH11%&5%
FIHETZTH1 13%6% FIHET ZTHL 1% 7%
FIHETZTHL 1% 7% FIHET = TH1 1% 9%
FIHET ZTHL 1% 7% FIHETZTH1 1% 1 3%
FIHET T TH1 1% 8% AT TH11&1 2%
FIHETZTH1 1%8% FHIHETZTH113%15%
FIHET " TH1 1% 8% AT TH11&1 7%
FHIHETZTH1 1% 9% HIHET - TH11%&1 8%
BIRHET - TH11%&1 25 HIHET - TH11%&2 1%
BIHET - TH11%&1 3% HIHET " TH11%&2 3%
BIRHET - TH11%&14%5 HHET - TH11%&22%5
BIRHET - TH11&1 75 HIHET " TH11%&28%
HIHETZTH11%18% AT ZTH11%2 9%
FHIHETZTH11%1 9% AT ZTH11%&3 0%

_5/6_




A £ Fr

2

oL AT

FIAET _TH11%20%5

A _TH11%20%5

FHET _TH11%20%5

FHET_TH11%20%5

FHET_TH11%20%5

FIHET _TH11%215

FHET _TH11%22%5

FIHET T H15%5 %

FHIT " TH15%6 %5

FHIT - TH15%6 %5

FHIT - TH15%6 %5

FHIT - TH16% 75

FHIT " TH15%8 %5

PIHEITZTH1 1%3 2%

PIHETZTH1 1%3 3%

FIHITZTH1 1%3 4%

FIHETZTH1 1%3 7%

FIHETZTH1 1%3 8%

FIHEITZTH1 1%4 0%

FIHITZTH1 1%4 1%

PIHET = THA4%F1 9%

FHIT " TH4% 145

FHIT " TH4%1 75

FHIT " TH15%3 5

FIART - TH15%F%1 7%

FHIT - TH15%8 %
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